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L. Please explain the meanings of those financial ratios (20%):
Example:
Current ratio Current assets/Current liabilities

Measures short-term debt-paying ability, the higher the better.

1. Gross Profit Margin
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2. Profit Margin Ratio

3.Current Cash Debt C verage
Ratio

4.operating cycle

5.ROE

6.book value per common share

7.price-earnings ratio

8.Times interest earned

9.Dividend yield

10.Payout ratio
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IL. The stockholder’s equity accounts of Sigma Corporation on January 1, 2010,were as follows.
Preferred stock (8%,$100 par noncurnulative, 5,000 shares authorized) $300,000

Common stock ($5 stated value, 300,000 shares authorized ) 1,000,000
Paid-in capital in excess of par value-preferred stock 15,000
Paid-in capital in excess of par value-common stock 480,000
Retained earnings 688,000
Treasury stock-common (5 ,000 shares) 40,000

During 2010, the corporation had the following transactions and events pertaining to its stockholder’s
equity.

.| Feb. 1 issued 5,000 shares of common stock for $30,000

Mar. 20 purchased 1,000 additional shares of common treasury stock at $7 per share

Oct. 1 declares an 8%cash dividend on preferred stock, payable November 1

Nov. 1 paid the dividend declared on October 1

Dec. 1 declared a 0.5 per share cash dividend to common stockholders of record on December 15, payable
December31,2010 31 determined that net income for the year was $280,000. Paid the dividend declared

on December 1,2010. (20%)
a. Prepare the stockholder’s equity section of the balance sheet at December 31, 2010
b. Calculate the payout ratio, earnings per share, and return on common stockholder’s equity ratio.
(note: use the common share outstanding on January 1 and December 31 to determined the average

shares outstanding.)
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